Efficiency vs P,

10.05
o
9.045
>
20.04
[}
2.035
[J]
0.03
0.025
0.02

0.015F i st HA
0.01--1¢ + ----- {1 R
0.005F----1-{-i--ooeooh - e | IR SIRERLTIEE
o 1Qf——d T EEPETITTTT BRI 1 177 BT
3 F AT : :
m ll__ """" " 1 T "“." i -ttt
E : 1 :
]_:— ------ Eu-o-n‘- - - ------------
F 1 + .
0.9E : R :
— 3
107t 1 10 2
0. (Ge?
T
—=— DQM_TT _original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_somethingbetter
= 0.4

2
20.09
2
50.08
o
£0.07
[}
0.06
0.05
0.04
0.03
0.02
0.01
o)

Ratio

1.1

[y

[OV LARRE RRRL
5
(@]
.
N
w

Efficiency vs ¢

s 0.1-
o E
>\0.09 ;
Q ]
.90'08 y
[&) .
£0.07E
o :

0.06F

Ratio
=




	Contents
	Page 1


